4B DF5E

23 4= *&%ﬁﬁfﬁ L

ol TH% T 5 v ak SR Yok T
7 |k BEER-IBREX(2~5%F) 5 1 12 11:00t8

AZER (15) 2~64 9:10
8 | K _ 3 4 148 11:30
9|2 EZHEMEINE BEEHA(5-64F) 3 1 2~64 12:15
10| £ O
18 O

HWERHIE BAEHR(3-45F)
12| B AETHIA %) 4 5 6 A/B./C
13|k | PR BFRERA (BRI, 1-2%) s 5 A BC
14| 7k R/HAEF) 4 5 A/B
15| 4 [BD (2F) BHE (68) 5] & sl Asc
M PNEFTEE I B EC il s lelslsl Ave c
17| £
18] 8 0

E3= 3 .
19l B %@gfﬁ) FERFH(5-65F) 4 6 AC
T EEZOZ5%

20| X lsm 3y (55) Mk (4% - ERIR) 415]6|5] 6 | A/BSC

HAh(64F)
21| K| cizpssmgst _ 4 0 A/B
22 | % ggfigé%%ﬁ) N 1RE2 (2-55) 2| s 6 ASBC
23| & BR (2F) 4 5 6 A/B/C
24| £ O
25[H| _ O
26| B HENE V57 FEN(4~64F) 4 6 ASC
21| i [FE REZAR BBR(1E) e 5 B G

& BT
28| A [EPBE OF) BHTIATHE ) - B
29| K _ _ EFD 3
20| 4 |ENRE (35 HEEHM . 1250

[T#cBEZI] A(4%5EF)13:40 B(5#H5)14:30 C(6%HF)15:15




